



ಸಂಪುಟ –೧೫೬ Volume - 156 ಬೆಂಗಳೂರು, **ಗುರುವಾರ, ೨೯, ಜುಲೈ, ೨೦೨೧ (ಶ್ರಾವಣ, ೦೭,** ಶಕವರ್ಷ, ೧೯**೪೩**)

BENGALURU, THURSDAY, 29, JULY, 2021 (SHRAVANA ,07, SHAKAVARSHA, 1943)

ಸಂಚಿಕೆ ೧೧೧ Issue 111

NOTIFICATION

In exercise of the powers conferred under section 5(2) of the Waqf Act, 1995, as amended during 2013 (27 of 2013) the Secretary to Government, Minority Welfare Haj and Waqf Department has forwarded the proposals received from the Deputy Commissioner, Kalburgi District to the Board in letter dated: 24.01.2018. It is verified and approved by the Administrator, Karnataka State Board of Waqf on 30.12.2017. The Govt. of Karnataka is hereby notifying that the following lands are Waqf properties.

Name of Dist: Kalaburagi Name of Taluka: Jewargi

			Locatio	on & Details Properties									Admi nistra	Registre d Trust /		
SI. No.	Name & Address of the Institution	Sunni or Shia	City/ Town/ Village	Sy. No./ CTS No. / Khata No.	Extent	Boundaries	Current Guidance Value	Year of Creation of Waqf	Name and Address of the waqif	Benefic iaries if any	Objec t of waqf	Gross Annua I Incom e of waqf	tion by Custo m/ Usag e/ Here ditar	wqaf deed / waqf scheme of Manage ment approve d by the Board	Descripti on of Property	Remarks
1	2	3	4	5	6	7	8	9	10	11	12	13	14	15	16	17
1	Makka Masjid, Muslim Banti jewargi	Sunni	Jewargi	Property No. 2247	100x100 =10000 Sq ft.	North = Graveyard South= Nala East = Road West= Graveyard	3,00,000/-	KBW/REG/26/G LB/97-98/763 DATE 21/11/1998	Govt. of Karnatak a	Muslim Jamath	Masji d	10,000/	Custo m	scheme of Manage ment Approve d by the Board	Makka Masjid, Muslim Basti jewargi	Khatha Effected

2	Masjid-e-Bilal, Behind Bus Stand, Jewargi Tq.	Sunni	Jewargi	Property in Sy. No. 29/B, & Plot No. 36, 37, 50 & 51 & House No. 29- 83 and 27-36 of Jewargi Taluk	60x80= 4800 Sq. ft.	North = Road South= Open Plot East = Road West= Road	10,00,000/-	KBW/REG/37/G BA/2006-07 DATE 14/12/2006	Govt. of Karnatak a	Muslim Jamath	Masji d	10,000/	Custo m	scheme of Manage ment Approve d by the Board	Masjid-e- Bilal, Behind Bus Stand, Jewargi Tq.	Khatha Effected
3	Mohammadiya Masjid, Jewargi Tq	Sunni	Jewargi	H.No. 4- 57	30x40 = 1200 Sq. ft.	North = Rajak Khureshi South= Road East = Road West= Channabasap pa Plot	1,00,000/-	KTW/REG/22/G BA/2004-05 DATE 17/08/2005	Govt. of Karnatak a	Muslim Jamath	Masji d	10000	Custo m	scheme of Manage ment Approve d by the Board	Mohamma diya Masjid, Jewargi Tq	Khatha Effected
4	Khabrasthan of Jamiya Masjid Near Macca Masjid Jappad Patte area jewargi	Sunni	Jewargi	H.No. 22-57/1 of Jappaed patta, Jewargi	278+269 2 X 515+518 2 = 1,41,262. 75 sft	North = Open space South= Jappad Patti Area East = Road West= Jappad Pattil Area	2,70,000/-	KTW/REG/28/G BA/2003-04 DATE 24/11/2003	Govt. of Karnatak a	Muslim Jamath	Khabr asthan	Nil	Custo m	scheme of Manage ment Approve d by the Board	Khabrasth an of Jamiya Masjid Near Macca Masjid Jappad Patte area jewargi	As per sketch & enjoymen t 1,41,262. 75sft As per CR 1,29,234s ft Excess 12,028.7 5sft
5	Samakhana & Sandal HavAli Arabic school belonging to Darga Hazrath Syed Peer Jewargi village	Sunni	Jewargi	H. No. 3-3	18 x 10= 180 sq ft	North = Street South= Open space East = Open space & Way West= House of Muthwalli	60,000/-	KTW/REG/5/GB A/2001-02 DATE 4/8/2001	Govt. of Karnatak a	Muslim Jamath	Samak hana, Sandal Haveli & Arabic Madar sa	Nil	Custo m	Muthwall i Syed Ahmed s/o Khaja peeran	Samakhan a & Sandal Naveli Arabic school belonging to Darga Hazrath Syed Peer Jewargi village	

6	Madeena Masjid, Khaja Colony, jewargi	Sunni	Jewargi	H. No. 17/98	$ \begin{array}{r} \frac{142+147}{2} \\ X \\ \frac{94+80}{2} \\ \equiv 13006.5 \end{array} $	North = Galli South= Road East = Road West= Road	2,00,000/-	KTW/REG/5/ GBA/2001-02 DATE 30-12-2002	Govt. of Karnatak a	Muslim Jamath	Masji d	10,000/	Custo m	scheme of Manage ment Approve d by the Board	Madeena Masjid, Khaja Colony,je wargi	Khatha Effected
7	Dargah Hazrath Mehboob Subhani Jewargi Tq.	Sunni	Jewargi	Property No.2	45x45= 2025 sq ft	North = Road South= Road East = Govt. Panchayat School West= Road	35,000/-	KTW/REG/77/G BA/1994-95 DATE 24/5/1995	Govt. of Karnatak a	Muslim Jamath	Darga	Nil	Custo m	scheme of Manage ment Approve d by the Board	Dargah Hazrath Mehboob Subhani Jewargi Tq.	Khatha Effected
8	Mosque Raddewardgi Village, Jewargi Tq.	Sunni	Jewargi	Ghrma Thana	48+50 x 50 2 2450 sqft	North = open Land of Wajjal South= Road East = Open space West= Road	1,00,000/-	KTW/REG/02/G BA/1991-90 DATED 3/7/1991	Govt. of Karnatak a	Muslim Jamath	Shadi Mahal	Nil	Custo m	scheme of Manage ment Approve d by the Board	Mosque Raddewar dgi Village, Jewargi Tq.	As per certificat e of Registrat ation the property is 25 x 32 = 800 Sq.ft but As per sketch in the posotion 49 x 50 = 2450 sqft Excess 1650sft Khatha Effected
9	Darga –A- Mahboob Subhani Shivapur, jewargi	Sunni	Shivapu r	Property No. 2-68	45x40= 1800 sq ft	North = Open yard South= Road East = Open yard West= Open Yard	80,000/-	KSBW/REG/35/ GBA/2003-04 date 5/12/2003	Govt. of Karnatak a	Muslim Jamath	Darga	Nil	Custo m	scheme of Manage ment Approve d by the Board	Darga Mahboob Subhani Shivapur ,jewargi	

10	Muslim Graveyard, Ganwar Village	Sunni	Ganwar	Property No.1	02A - 04G	North = Sy. No 1 South= Govt. Road East = Sy.no. 22 & 23 West= Govt. Road	1,15,000/-	KBW/REG/18/G BA/1996-97 DATE 27/10/1997	Govt. of Karnatak a	Muslim Jamath	Grave yard	Nil	Custo m	scheme of Manage ment Approve d by the Board	Muslim Graveyard , Ganwar Village	
11	Jamia Masjid Gonwar Village Jewargi Tq.	Sunni	Gonwar	No. 31	90x83 = 7470 Sq.ft.	North = Road South= Bigrali biriyal Road East = Road West= Road	5,00,000/-	KTW/REG/8/ GBA/1989-90 DATED 2/3/1990	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	15,000/	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid Gonwar Village Jewargi Tq.	As per certificat e of registrata tion the property is 90 x 80 = 7200 Sq.ft but on posotion 90x 83 = 7470 sqft +270SFT Execs As per sketch Khatha Effected
12	Jamia Masjid (sunni) Kobal Village	Sunni	Kobal	Property No. 2-14	40x50 =2000 sq ft	North = Darga Road South= L. Of Gurunathapp a S/o Jakkappa East = Road West= Galli	85,000/-	KBW/REG/18/G BA/ 1995-96 DATE 3/11/1997	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	10000	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid (sunni) Kobal Village	Khatha Effected
13	Jamia Masjid Jeratgi Village	Sunni	Jeratgi	Property No. 3-56	50 X 50= 2500sq ft 30X40 = 1200 sq ft Total = 3700 sq ft	North = House of Ali Sab Choudhry South= Govt. Nala East = Road West= Road	1,50,000/-	KTW/REG/7/GB A/1997-98 DATE 18-11-1997	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	Nil	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid Jeratgi Village	As per certificat e of Registrat ation the Property is 3580 sqft . But as per Position the

																Property is 4500 sq ft
14	Jamia Masjid, Kollur Village	Sunni	Kollur	Property No. 7- 615	1) Jamaia Masjid 7.60 x 14.60 = 110.96 Sq mts. 2) Open Space 11.90 x 10.35 = 123.165 Sq mts Total = 2519.13 sq ft	North = Mashaik Sab House South= Road East = Lane West= Sikandar Sab House	26,000/-	KBW/REG/19/G BA/1997-98 DATE 16/10/1998	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	15,000/	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid Kollur Village	Khatha Effected
15	Jamia Masjid Kellur Village,Jewargi Taluk.	Sunni	Kellur	Khata no : 2-126	56 x 65 = 3640 sqft	North = House Belonging to Ladlesab Burna Sab. South= Road East = Kondagi. West= Road	2,00,000/-	KSBA/REG/52/ KLB/2016-17 DATED 17/2/2017	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	Nil	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid Kellur Village,Je wargi Taluk.	
16	Jamia Masjid Yadrami Village	Sunni	Yadrami	Property No. 4/93	51.6x42 = 2167.2 sq ft	North = Galli South= Road East = Road West= Galli	1,25,000/-	KBW/REG/15/G LB/1997-98 DATE 13/1/1999	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	15,000/	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid Yadrami Village	
17	Graveyard at Yadrami Village	Sunni	Yadrami	Sy.No. 237	04A - 00G	North = Sy.No. 234 South= Sy.No. 237 remaining part East = Road West= Road	50,000/-	KSBW/REG/17/ GBA/2003-04 DATE 21/11/2003	Govt. of Karnatak a	Muslim Jamath	Grave yard	Nil	Custo m	scheme of Manage ment Approve d by the Board	Graveyard at Yadrami Village	Khatha Effected

18	Madina Masjid, Yadrami Village	Sunni	Yadrami	Property No. 8- 177/2	100x150 = 15000 sq ft	North = Road South= Open space East = Road West= Ashraya Yojane Houses	5,50,000/-	KSBW/REG/75/ GBA/2011-12 DATE 2/8/2012	Govt. of Karnatak a	Muslim Jamath	Masji d	25000	Custo m	scheme of Manage ment Approve d by the Board	Madina Masjid, Yadrami Village	Khatha Effected
19	President Jamia Masjid Bilwar Village	Sunni	Bilwar	Property no. 21- 30	41 X 48= 1968 45 X 15= 675 Total 2643 sq ft	North = Road South= House of Makdoom Patel East = House of Mahaboob Patel West= Galli	1,20,000/-	KBW/REG/86/G LB/2000 DATE 7/4/2000	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	10,000/	Custo m	scheme of Manage ment Approve d by the Board	President Jamia Masjid Bilwar Village	Khatha Effected
20	Jamia Masjid Halgadla Village	Sunni	Halgadl a	Property No. 2- 147	28.35 x 24.25 =695.29 Sq mts 7481 sq ft	North = Road South= Mallesh Gowde Land East = Mallesh Gowde Land West= Open space	1,60,000/-	KSBW/REG/82/ GLB/199-2000 DATE 11/4/2000	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	10,000/	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid Halgadla Village	As per sketch and enjoinme nt Khatha Effected
21	Jamia Masjid, Wastari Village	Sunni	Wastari	Property No. 331	12.20 x 16.15= 197.03 Sq mts 2120 sq ft	North = Open land South= Open land East = Open land West= Open land	70,000/-	KTW/REG/12/G BA/1997-98 DATE 9/5/2000	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	Nil	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid, Wastari Village	Khatha Effected
22	Muslim Khabrasthan Vastari Village	Sunni	Vastari	Sy. No. 99	03A - 00 G	North = Sy. No. 99 Remaining Part South= Sy. No. 90 East = Sy. No. 99 Remaining Part West= Sy. No. 99 Remaining Part	75,000/-	9/4/2013	Govt. of Karnatak a	Muslim Jamath	Khabr asthan	Nil	Custo m	scheme of Manage ment Approve d by the Board	Muslim Khabrasth an Vastari Village	No CR in the file

23	Jamia Masjid on open polt of Kudi Village	Sunni	Kudi	Property No. 71	60x80 =4800 sq ft	North = Road South= Plot of Imam Patel S/o Ladle patel East = Road West= Plot of Ummanna S/o Haralayya	60,000/-	KBW/REG/92/G LB/2000 DATE 1/7/2000	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	Nil	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid Kudi Village	Khatha Effected
24	Muslim Khabrasthan, Yelwar Village	Sunni	Yelwar	Sy. No. 104	03A - 39G	North = Sy.No. 250 & 103 South= Sy. No. 106 East = Road West= Village	1,95,000/-	KTW/REG/14/G BA/ 2000 DATE 5/3/2001	Govt. of Karnatak a	Muslim Jamath	Khabr asthan	Nil	Custo m	scheme of Manage ment Approve d by the Board	Muslim Khabrasth an, Yelwar Village	Khatha Effected
25	Jamiya Masjid Yelwar Village Glb. Dist.	Sunni	Yelwar	Sy. No. 497	93 x 57 =5301 sq ft	North = Road South= Sy. No. 248 East = Village Site West= Sy. No. 248	1,00,000/-	KTW/REG/65/G BA/2001-02 DATE 6/6/2002	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	Nil	Custo m	scheme of Manage ment Approve d by the Board	Jamiya Masjid Yelwar Village Glb. Dist.	Accordin g to Certificat e of Registrat ation the Property is 5301 Sq ft. But on Spot the Property is 02 Guntas. As per sketch. Khatha Effected
26	Masjid -E- Aayesha ,Yalwar Village	Sunni	Yalwar	Khata No: 5-94	80 x 60 = 4800 sqft	North = 15 feet Road. South= 15 feet Road. East = Open Plot. West=Land Belonging to Mehboob Patel.	1,50,000/-	KSBA/REG/84/ KLB/2016-17 DATED 4/4/2017	Govt. of Karnatak a	Muslim Jamath	Masji d	Nil	custo m	scheme of Manage ment Approve d by the Board	Masjid -E- Aayesha ,Yalwar Village	

27	Idgah Nelogi Village Jewargi Village	Sunni	Nelogi	Property No. 83	90x80 = 7200 Sq .ft.	North = House of Siddramappa Kawlagi South= House of Subhashchan dra Kachapur East = Road to Kollur West= House of Eranna Kakkalmeli	1,50,000/-	KTW/REG/5/GB A/2001-02 DATE 14/1/2001	Govt. of Karnatak a	Muslim Jamath	Idgah	Nil	Custo m	scheme of Manage ment Approve d by the Board	Idgah Nelogi Village Jewargi Village	Khatha Effected
28	Khabrasthan Nelogi Village	Sunni	Nelogi	Sy. No. 320	80 x 160 =12,800 sq ft	North = Tank Place South= Way to Harwal Village East = Open space of Hanamanth Horkeri West= Open space of Uleppa Kambali	1,00,000/-	KTW/REG/2/ GBA/2001-02 DATE 4/7/2002	Govt. of Karnatak a	Muslim Jamath	Khabr asthan	Nil	Custo m	scheme of Manage ment Approve d by the Board	Khabrasth an Nelogi Village	Khatha Effected
29	Jamia Masjid Aralgundagi Village	Sunni	Aralgun dagi	Property No. 649/1	40 x 81 = 3240 sq ft	North = Road South= Urdu LPS East = Road West= Road	75,000/-	KTW/REG/19/G LB/2000-02 DATE 4/8/2001	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	10,000/	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid Aralgunda gi Village	As per CR 80X81 but the measure ment has been Done by the survey sketch 40 X 81

30	Muslim Khabrasthan, Harwal Village	Sunni	Harwal	Sy.No. 243	01A - 38G	North = Govt. Road South= Sy.No. 242 East = - do - West= - do -	1,10,000/-	KTW/REG/26/G BA/2001-02 DATE 23/10/2001	Govt. of Karnatak a	Muslim Jamath	Khabr asthan	Nil	Custo m	scheme of Manage ment Approve d by the Board	Muslim Khabrasth an, Harwal Village	Khatha Effected
31	Eidgah Harwal Village	Sunni	Harwal	Property No.20	150 x 150 = 22500 Sq ft	North = Open space South= Open space East = Open space West= Open space	1,50,000/-	KSBW/REG/84/ GBA/2001-02 DATE 24/7/2002	Govt. of Karnatak a	Muslim Jamath	Idgah	10,000/	Custo m	scheme of Manage ment Approve d by the Board	Eidgah Marwal Village	Khatha Effected
32	Idgah Mudbal (B) Village Glb. Dist.	Sunni	Mudbal (B)	Sy.No. 133 Property No. 2-97	00A - 06G or 60 x 100 = 6000 sqft.	North = Remaining part of Sy.no. 133 South= Remaining part 131 East = Remaining part 133 - West= - do -	50,000/-	KTW/REG/17/G BA/2001-02 DATED 23/10/2001	Govt. of Karnatak a	Muslim Jamath	Idgah	Nil	Custo m	scheme of Manage ment Approve d by the Board	Idgah Mudbal (B) Village Glb. Dist.	
33	Jumma Masjid Mudabal (B) Village Jewargi Tq.	Sunni	Mudbal (B)	Ghrma Thana	30.5 x 23.75 = 724.37 sqmtrs 14.10X29 .25 =412.42s q mtr Total =1136.79 X 10.76 =12231.8 6 sft	North = Road South= Road East = Road West= Govt. School	1,09,000/-	KTW/REG/9/GB A/1990-91 DATED 3/7/1991	Govt. of Karnatak a	Muslim Jamath	Jumm a Masji d	Nil	Custo m	scheme of Manage ment Approve d by the Board	Jumma Masjid Mudabal (B) Village Jewargi Tq.	As per certificate of registratat ion the property is 80 x 50 = 4000 sq.ft but As per sketch in the posotion 12231.86sf t excess 8231.86sft

ī	1	ı	1	I	1	1	1	1	I	I	I	l	I	1	I	<u> </u>
34	Jamia Masjid Aloor Village Glb. Dist.	Sunni	Aloor	G.P. No. 4-20	40x30 = 1200 Sq. ft	North = Open Land South= Open Land East = Open Land West= Open Land	5,00,000/-	KSBW/REG/10/ GBA/2001-02 DATE 13/11/2001	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	15,000/	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid Aloor Village Glb. Dist.	Khatha Effected
35	Jamia Masjid Aloor Village	Sunni	Aloor	Property No. 394/IV/4 / 20	40x30 = 1200 Sq.	North = Land of Basvaraj Hedjal South= Airtel Tower East = Road West= Open Land	1,40,000/-	14/9/2004	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	15,000/	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid Aloor Village	No CR
36	Darga Syed Peer Sab Chigarhalli Village	Sunni	Chigarh alli	Property No. 1-60 in Sy.No. 354 & 356	235x232 =54520 Sq. ft.	North = Govt. Forest Land South= Govt. Forest Land, POLTS OF Jagirdhar East = Forest Land West= Main Road Gulbarga to Shahapur	5,00,000/-	KTW/REG/38/G BA/2001-02 DATE 8/1/2002	Govt. of Karnatak a	Muslim Jamath	Darga	15,000/	Custo m	scheme of Manage ment Approve d by the Board	Darga Syed Peer Sab Chigarhall i Village	Khatha Effected As per sketch and enjoymen t
37	Jamia Masjid Maradgi (SA) Village Glb. Dist.	Sunni	Maradgi (S.A.)	Sy.No. 1/3	00A - 05G or 68 x 80 = 5440 SQFT	North = Remaining Sy. No. 1/3 South= Sy. No. 1/2 East = Road West= Sy.No. 1/3	1,50,000/-	KTW/REG/55/G BA/2001-02 DATE 6/6/2002	Gift by Masjid pash s/o Khajalla jamadar Maradgi (S.A)	Muslim Jamath	Jamia Masji d	10000	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid Maradgi (SA) Village Glb. Dist.	Khatha Effected
38	Mehboob Subhani Darga Saidpur Village Glb. Dist.	Sunni	Saidapur	Assessm ent No. 247 P.No. 3- 44	150x180 = 27000 Sq.ft.	North = School Building & Road South=	5,00,000/-	KTW/REG/83/G BA/2001-02 DATE 5/6/2002	Govt. of Karnatak a	Muslim Jamath	Darga	15000	Custo m	scheme of Manage ment Approve	Mehboob Subhani Darga Saidpur Village	As per certificate of Registratat ion the Property is

						Govt. Open space East = Govt. Open space West= Road								d by the Board	Glb. Dist.	150 X 150 =22500 sq ft . But as per Position the Property is 27000 sq ft Khatha Effected
39	Masjid Sunni Saidapur Village	Sunni	Saidapur	Property No. 1&1	90 x 110 =9900 sqft	North = Road South= Govt. Ope space East = Road West= Road	1,00,000/-	KTW/MSC/47/G BA/1993-94 DATED 19/11/1994	Govt. of Karnatak a	Muslim Jamath	Ashoo rkhana	Nil	Custo m	scheme of Manage ment Approve d by the Board	Ashoorkh ana in to Masjid Saidapur Village	The Ashoorkh ana Registred was 10 x 12= 120sft. But it was converted into masjid and in position is 90 x 110 =9900 sqft +9780sft Khatha Effected
40	Jamia Masjid Saidapur Village Jewargi Tq.	Sunni	Saidapur	Property No. 3-45	220 x 190= 41800 sqft	North = 30'wide Road South= 30'wide Road East = 15"wide Road West= open Space	3,00,000/-	KSBA/REG/168/ GLB/2014-15 DATED 22/11/2016	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	Nil	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid Saidapur Village Jewargi Tq.	As per CR 35400sft but As per sketch 220X190 = 41800sft +6400sft

41	Site of Mehboob Subhani Muslim Minority Samudhaya bhavan (Shadi Mahal) Saidapur Village	Sunni	Saidapur	Property No. 3/55	195x115 = 22425 Sq.ft.	North = Road South= Govt. Ope space East = Got. Open space & Masjid West= Kuknoor Road	5,00,000/-	KTW/REG/17/G BA/2005-06 DATED 24/8/2005	Govt. of Karnatak a	Muslim Jamath	Samu dhaya Bhava n (Shadi Mahal	75,000/	Custo m	scheme of Manage ment Approve d by the Board	Site of Mehboob Subhani Muslim Minority Samudhay a bhavan (Shadi Mahal) Saidapur Village	As per certificat e of registrata tion the property is 115 x 110 =12650S q.ft but on posotion 195 x 115 = 22425 sqft Execs 9775SFT Khatha Effected
42	Jamiya Masjid Malli Village Glb. Dist.	Sunni	Malli	Property no:6- 150	60X30= 1800 SQ FT	North = NALLA South= Ashurkhan East Road West= nalla	85,000/-	24/6/2002	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	10,000/	Custo m	scheme of Manage ment Approve d by the Board	Jamiya Masjid Malli Village Glb. Dist.	Khatha Effected
43	Jamia Masjid, Itga Village	Sunni	Itga	Assemen t NO. No. 6-73	60x40 = 2400 Sq ft	North = Open space South= Open space East = Open space West= Open space-	1,35,000/-	KTW/REG/10/G BA/2002-03 DATED 21/8/2002	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	10,000/	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid, Itga Village	
44	Mahboob Subhani Dargah, Itagi Village	Sunni	Itagi	Property No.6/73/ 1	15 x 15 = 225 Sq.ft.	North = Road South= Edgah land East = Land of Nazeer Ahmed West= Edgah Land	1,50,000/-	KTW/REG/11/ GBA/ 2005-06, Dt:5/10/2005	Govt. of Karnatak a	Muslim Jamath	Darga h	Nil	Custo m	Scheme of Manage ment Approve d by the Board	Mahboob Subhani Dargah, Itagi Village	Khata effected

45	Jamia Masjid Kuthoor Village	Sunni	Kutnoor	Property No. 1- 193	100x100 =10,000 Sq. ft.	North = Open space South= Mohammed Mullan Open Plot East = Road West= Ibrahim Zardi Plot	1,25,000/-	KTW/REG/8/GB A/2002-03 DATED 28/10/2002	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	10,000/	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid Kathoor Village	NO CR IN THE FILE Khatha Effected
46	Idgah, Kutnoor Village	Sunni	Kutnoor	Property No. IV- 53	87 X 70 = 6090 Sq.ft.	North = Pandith Rao Siddarama ppa South= Aiamma land East = Road West= Basavaraju s/o Bhimrao land	2,50,000/-	KTW/REG/41/G BA/2009-10 DATED 03/11/2009	Govt. of Karnatak a	Muslim Jamath	Idgah	Nil	Custo m	scheme of Manage ment Approve d by the Board	Idgah, Kutnoor Village	As per the Certificat e of Registrata tion the Property is 80 x 80 =6400 sqft but as per Position the Property is 6090SFT Less 310sft
47	Khabrasthan, Kutnoor Village	Sunni	Kutnoor	Property No. IV- 15	150x200 = 30000 Sq.ft	North =Govt Open space South= Gouthan East = Road West= Land of Digamber Hadpad	2,00,000/-	KTW/REG/40/G BA/2009-10 DATED 7/11/2009	Govt. of Karnatak a	Muslim Jamath	Khabr asthan	Nil	Custo m	scheme of Manage ment Approve d by the Board	Khabrasth an, Kutnoor Village	Khata effected
48	Side for construction of Jamia Masjid Gundur Village	Sunni	Gundur	H.No. 83	100x100 =10,000 Sq.ft.	North = Road South= Nale East = Open Space and Asharaya House West= Govt Road.	2,50,000/-	KTW/REG/35/G BA/2001-02 DATE 1/1/2003	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	10,000/	Custo m	scheme of Manage ment Approve d by the Board	Side for constructi on of Jamia Masjid Gundur Village	Khatha Effected

					1											1
49	Registration of Muslim Graveayard, Gudur Village Jewargi Tq.	Sunni	Gudur (SA)	Sy.No. 258	00A- 29G	North = Village Site South= Sy.No. 257 East = Road Gudur to Channur West= Sy.No. 10	1,35,000/-	KTW/REG/05/G BA/1989-90 DATED 20/12/1989	Govt. of Karnatak a	Muslim Jamath	Grave yard	Nil	Custo m	scheme of Manage ment Approve d by the Board	Registrati on of Muslim Graveayar d, Gudur Village Jewargi Tq.	Khatha Effected
50	Ashoorkhana Hazrat Akbar Abbas Ali Wadegeri Village	Sunni	Wadage ra	Sy. No. 19/6, Property No. 550	00A - 06G or 83 x 77 = 6340 sq ft.	North = Sy.No. 19/6 remaining part South= Village Boundry East = Road West= Sy.No. 19/6 Remaining Part	1,80,000/-	KTW/REG/28/G BA/2002-03 DATED 4/1/2003	Govt. of Karnatak a	Muslim Jamath	Ashoo rkhana	Nil	Custo m	scheme of Manage ment Approve d by the Board	Ashoorkh ana Hazrat Akbar Abbas Ali Wadegeri Village	Khatha Effected
51	Jamia Masjid Wadegera Village	Sunni	Wadage ra	Property No. 5-34	37 x 32 =1184 Sqft	North = Gauthan and Houses South= Govt road East = Govt road West=open Space	2,50,000/-	KTW/REG/51/G BA/2011-12 DATED 15/5/2012	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	Nil	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid Wadegera Village	Dabble entry hence cancel Sl. No.44
52	Muslim Khabrasthan Wadegera Village	Sunni	Wadage ra	Sy. No. 273	02A - 00G	North = Govt Land Open Space. South= Govt Open Space and Jamia Masjid. East = Govt Open Space and River. West= Sy no :268	2,50,000/-	KSBW/REG/20/ GBA/2012-13 DATED 26/2/2013	Govt. of Karnatak a	Muslim Jamath	Khabr asthan	Nil	Custo m	scheme of Manage ment Approve d by the Board	Muslim Khabrasth an Wadegera Village	Khatha Effected

53	Jamia Masjid (sunni) Wadgara Jewargi Tq.	Sunni	Wadage ra	5-34.	27x24= 648 sq ft	North = Muslim Khabrasthan Sy.No. 273 South= Open space Sy.No. 273 East = Open space Sy.No. 273 West= Open space Sy. No. 273	2,00,000/-	5/2/1982	Muslim Jamath	Muslim Jamath	Jamia Masji d	Nil	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid (sunni) Wadgara Jewargi Tq.	No RC in the file
54	Dargah Hazrath Dawal Malik Shadimahal Wadegera Village	Sunni	Wadage ra	Property No. 7-78	130x100 =13000 sq ft	North = Road South= Open space East = Open space West= Road	5,00,000/-	4/6/2010	Muslim Jamath	Muslim Jamath	Darga	1,00,00	Custo m	scheme of Manage ment Approve d by the Board	Dargah Hazrath Dawal Malik Shadimah al Wadegera Village	No RC in the file
55	Idgah Andola Village	Sunni	Andola	Property No. 11-6 Sy No. 559	200 x 200 = 40,000 Sq ft	North = Remaining land of Sy.No. 559 South= Remaining land of Sy No. 559 East = Remaining land of Sy.No. 559 West= Land of Sy.No. 559	1,40,000/-	KBW/REG/24/G BA/2002-03 DATED 23/8/2003	Gift by Mastan Sab s/o Ibarahim Sab	Muslim Jamath	Idgah	Nil	Custo m	scheme of Manage ment Approve d by the Board	Idgah Andola Village	Khatha Effected

56	Fatima Masjid Andola Village	Sunni	Andola	Khata No: 12- 52 & 12- 53	91 x 71 = 6461 sq ft	North = House Belonging to Karanappa Kambar. South= House Belonging to S.I Jamakhandi. East = Road. West= House Belonging to S.S MaliPatil	2,00,000/-	KSBA/REG/56/ KLB/20016-17 DATED 17/12/2016	Govt. of Karnatak a	Muslim Jamath	masjid	Nil	Custo m	scheme of Manage ment Approve d by the Board	Fatima Masjid Andola Village	
57	Khabrasthan (sunni) Naribole Village	Sunni	Naribole	Property No. 7- 128	E-W=N- 150 FEET, E-W=S- 197 FEET, N-S=W- 218 FEET, N-S=E- 202 FEET, 61.15X45 .50=2782 .32 Sq mtr. 52.30X14 .35=750. 50 sq mtr Total =3532.82 sq mtr 38,013 sq ft	North = Gouthan Open space South= Hospital Way East = Gouthan Way West= Nala Public Way	1,80,000/-	KTW/REG/14/G BA/2001-02 DATED 29/4/2003	Govt. of Karnatak a	Muslim Jamath	Khabr asthan	Nil	Custo m	scheme of Manage ment Approve d by the Board	Khabrasth an (sunni) Naribole Village	Khatha Effected
58	Masjid-e- Ilahi Sathkhed Village	Sunni	Sathkhe d	Sy. No. 57	120x120 = 14400 Sq. ft.	North = Nala South= Open Land East = Open Land West= Open Land	2,50,000/-	KTW/REG/7/GB A/2003-04 DATED 17/7/2003	Waqf Deed given by Gift Lala Ahmed s/o Mohamed Ali	Muslim Jamath	Masji d	15,000/	Custo m	scheme of Manage ment Approve d by the Board	Masjid-e- Ilahi Sathkhed Village	Khatha Effected

59	Jamiya Masjid Sonna Village	Sunni	Sonna	H.No. 3- 42 in Sy no 1	33x66 = 2178 sq ft.	North = Open space South= Open space East = Open space West= Road	50,000/-	KTW/REG/21/G BA/2003-04 dated 21/11/2003	Gift by Hussain Sab s/o Mithe Sab Mulla Soona village	Muslim Jamath	Jamia Masji d	Nil	Custo m	scheme of Manage ment Approve d by the Board	Jamiya Masjid Sonna Village	Khatha Effected
60	Muslim Khabrasthan Ankalga Village	Sunni	Ankalga	Property No. 58	265 x 550 =145750 sqft	North = Land of Malkappa Kalshetty South= Hanchinal Road East = Govt. Land West= Govt. Hospital	5,00,000/-	KBW/REG/83/G BA/2010-11 DATED 21/11/2011	Govt. of Karnatak a	Muslim Jamath	Khabr asthan	Nil	Custo m	scheme of Manage ment Approve d by the Board	Muslim Khabrasth an Ankalga Village	As per CR 285X575 = 163875 sqft but As Per Sketch The Property is 265 x 550 =145750 sqft.
61	Jamia Masjid, Aralagundg Village	Sunni	Aralgun dgi	Property No. 649/1	101X80= 8080 19.5X20= 390 Total =8470 Sq.ft.	North = Road South= Private Road East = Govt. Raod West= Govt. Road	2,00,000/-	KSBW/REG/40/ GBA/2011-12 DATED 11/9/2012	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	15,000/	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid, Aralagund i Village	As per certificat e of Registrat ation the property is 101 x 80 but as per position the property is 8470 qft.

62	Darga Hazrat Dawal Malik Kurnahalli Village	Sunni	Kurnalli	Property No 1- 156	83 x 28.5 =2365.5 sq ft	North = House Belonging to Bapra Gowda. South= Road East = Road West=House Belonging to Channa Mallippa Doddamani.	2,00,000/-	KSBW/REG/37/ GBA/2011-12 DATED 5/3/2013	Govt. of Karnatak a	Muslim Jamath	Darga	Nil	Custo m	scheme of Manage ment Approve d by the Board	Darga Hazrat Dawal Malik Kurnahalli Village	Khatha Effected
63	Shahabuddin wali Dargah Hangarga (B) Village	Sunni	Hangarg a (B)	Property No. 3-80	50x45 = 2250 Sq.ft.	North = Jumma Masjid South= Yalgoda Road East = Sy. No. 71/1 West= Road	2,50,000/-	KSBW/REG/28/ GBA/2012-13 DATED 19/4/2013	Gift by Srimathi Pramila Bhai w/o Bhaskar Rao hangar(B) , village	Muslim Jamath	Darga	Nil	Custo m	scheme of Manage ment Approve d by the Board	Shahabud din wali Dargah Hangarga (B) Village	Khatha Effected
64	Muslim Khabrastan (Sunni) Hangarga (K) Village	Sunni	Hangarg a (K)	Property no :4-71	310X240 = 74400 30X40= 1200 Total =75600 sqft	North = Idgah South= Land Belonging to Sri Kallana Sahu. East =Road West= Land Belonging to Sri Saibanna.	3,00,000/-	KSBW/REG/02/ GBA/2012-13 DATED 16/2/2016	Govt. of Karnatak a	Muslim Jamath	Khabr asthan	Nil	Custo m	scheme of Manage ment Approve d by the Board	Muslim Khabrasta n (Sunni) Hangarga (K) Village	As per sketch

65	Jamia Masjid-e- Mohammadi (sunni) Hangarga (K) Village	Sunni	Hangarg a (K)	Ward NO3 H.No. 48	00A - 03G	North = Remaining Land of Sy.No. 97/2 South= Remaining Land of Sy.No. 97/2 East = Remaining Land of Sy.No. 97/2 West= Remaining Land of Sy.No. 97/2 West= Remaining Land of Sy.No. 97/2	1,00,000/-	KTW/REG/62/G BA/1993-94 DATED 30/8/1994	Gift by Shek Adam Sab s/o Faqir Ahmed Sab Hangarag a (K) village	Muslim Jamath	Jamia Masji d	Nil	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid-e- Mohamma di (sunni) Hangarga (K) Village	Khatha Effected
66	Jamia Masjid Hipparga Village Jewargi Tq.	Sunni	Hipparg a	Property No. 2-72 & 2-73	86 x 44 = 3784 sqft OR As per scale 105X20= 2100sft 105X13= 1365sft 60X5.3= 319sft Total = 3784sft	North = Galli South= Road East = Road West= Open space	1,20,000/-	KTW/REG/17/G BA/1987-8 DATED 27/5/1988	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	Nil	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid Hipparga Village Jewargi Tq.	Khatha Effected

67	Khabrasthan as Addl Property of Muslim Khabrasthan , Hipperga (S.S) Village ,Jewargi Taluka Registered wide Gazette Notification No. KTW/2012/AS R/74 dated:16- 04-1974	Sunni	Hipparg a(S.S)	Land in Sy No. 319	03Acer20 Guntas	North = Syno.330 & Sy No. 319. South= Syno.324 East = Syno.319 West= Syno.330 & Sy No. 319.	3,00,000/-	KSBA/REG/172/ GLB/2014-15 DATED 4/4/2017	Govt. of Karnatak a	Muslim Jamath	Grave yard	Nil	Custo m	scheme of Manage ment Approve d by the Board	Khabrasth an as Addl Property of Muslim Khabrasth an ,Hipperga (S.S) Village ,Jewargi Taluka Registered wide Gazette Notificatio n No. KTW/201 2/ASR/74 dated:16- 04-1974	Khatha Effected
68	Jamia Masjid Sigarathahalli Village Jewargi Tq.	Sunni	Sigarath halli	H.No. 1- 90/2	103.5 x 84 = 8694 sqft	North = Road to Tellur South= Khabrasthan East = Dargah Kunja Masabi West= Road to Halgadla	1,50,000/-	KTW/REG/16/G BA/1991-92 DATED 1/1/1994	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	Nil	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid Sigarathah alli Village Jewargi Tq.	As per certificate of registratat ion the property is 70 x 60 = 4200 sqft but on posotion 103.5 x 84 = 8694 sft +4494 sft execs Khatha Effected
69	Graveyard (Sunni) Sigarath halli Village	Sunni	Sigarath halli	Aasti No.3-61	350 X 52.5= 350 X 45= Total 34125sft	North = open Land South= Road East = Sy.No. 99 West= dargha and Road	5,00,000/-	KTW/REG/39/G BA/2005-06 DATED 16/11/2005	Govt. of Karnatak a	Muslim Jamath	Grave yard	Nil	Custo m	scheme of Manage ment Approve d by the Board	Graveyard (Sunni) Sigarath halli Village	As Per Sketch 34125sft As per CR 40,000 sft less 5875sft

70	Jamia Masjid Banami Village	Sunni	Banami	Property No. 2-21	80x40 = 3200 sqft.	North = Galli South= Road East = Plot of Bawasab S/o Peersab West= Plot of Mashaq Patel	85,000/-	KTW/REG/52/G BA/1993-94 DATED 11/1/1994	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	Nil	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid Banami Village	Khatha Effected
71	Addl .Property of Jamia Masjid , Banami Village,Jewargi Taluk,	Sunni	Banami	Property No;2-57	100 x 130 = 13000sqft	North = Land Belonging to Magabula Patel S/o Bandigi Patel South= Road East = OpenSpace West= Road	2,00,000/-	KSBA/REG/A9/ KLB/2015-16 DATED 2/12/2016	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	Nil	Custo m	scheme of Manage ment Approve d by the Board	Addl .Property of Jamia Masjid ,Banami Village,Je wargi Taluk,	
72	Registration of Jamia Masjid Desangi Village	Sunni	Desangi	Plot No. 151/2	45x50 = 2250 sqft.	North = House of of Chand Patel South= Road East = House of Mahboob Pasha West= Galli	1,25,000/-	KTW/REG/12/G BA/1989-90 DATED 17/5/1990	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	Nil	Custo m	scheme of Manage ment Approve d by the Board	Registrati on of Jamia Masjid Desangi Village	Khatha Effected
73	Masjid-e-Ilahi Warvi Village Jewargi Tq.	Sunni	Warvi	Sy.No. 54/5, Plot No. 7 & 10	00A - 12G	North = Remaining part Sy.No. 54 South= Remaining Part Sy.No. 54 East = Remaining Part Sy.No.	1,30,000/-	KTW/REG/5/GB A/1992-93 dated 6/2/1993	Gift by Mohamm ed Ali s/o Dawood Sab Ladji R/o Warvi village	Muslim Jamath	Masji d	15,000/	Custo m	scheme of Manage ment Approve d by the Board	Masjid-e- Ilahi Warvi Village Jewargi Tq.	Khatha Effected

74	Jamia Masjid Mallabad Village	Sunni	Mallaba d	H.No. 3- 16	40x60 = 2400 sq ft	North = Open Space South= Open space East = Open space West= Road	1,36,000/-	KBW/REG/32/G BA/2002-03 DATED 20/5/2004	Gift by Shakhil pash Maihobo ob Sab Rangamp eet, R/o Mallabad	Muslim Jamath	Jamia Masji d	15,000/	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid Mallabad Village	Khatha Effected
75	Idgah Kullargi Village Jewargi Tq.	Sunni	Kullargi	Aasti No. 2-5- 2	50x60 = 3000 Sq. ft.	North = Graveyard & Open space South= Graveyard East = Road West= Graveyard	5,00,000/-	KTW/REG/68/G BA/2001-02 DATED 28/2/2002	Govt. of Karnatak a	Muslim Jamath	Idgah	1,0000/	Custo m	scheme of Manage ment Approve d by the Board	Idgah Kullargi Village Jewargi Tq.	As per certificat e of Registrat ation the Property is 50x40 = 2000 Sqft . But As per sketch in the position
76	Jamia Masjid, Kulgera Village	Sunni	Kulgera	Property No.2-45	$ \begin{array}{r} 35+45 \\ 2 \\ X \\ 63+61 \\ 2 \\ = \\ 2480sft \end{array} $	North = Road South= House of Sharanappa Bhasagi East = House of Mallanna Sajjan West= Road	1,50,000/-	KTW/REG/60?G BA/2005-06 DATED 27/4/2006	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	15,000/	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid, Kulgera Village	As per CR 2382sft as per sketch and enjoymen t excess
77	Graveyard (Sunni) Kulgera Village	Sunni	Kulgera	Property No. 2/1	As per Scale 250X100 = 310X85= Total 51,350sft	North = Govt. Way South= Main Road East = idgah & road West= Govt. School	10,00,000/-	KBW/REG/96/G BA/2007-08 DATED 24/03/2008	Govt. of Karnatak a	Muslim Jamath	Grave yard	Nil	Custo m	scheme of Manage ment Approve d by the Board	Graveyard (Sunni) Kulgera Village	As per the Certificat e of Registrata tion the Property is 6787.5sft As per enjoyment and sketch 51,350sft excess 44,562.5

78	Kalima Masjid & Dargah, Bhosga (B) Village	Sunni	Bhosga(B)	Property No. 1-86	75 x 85 = 6375 sqft	North = Open Land South= House of Ambaji East = Road West= Open Land	10,00,000/-	KTW/REG/12/G BA/2005-06 DATED 21/9/2005	Govt. of Karnatak a	Muslim Jamath	Masji d	Nil	Custo m	scheme of Manage ment Approve d by the Board	Kalima Masjid & Dargah Bhosga (B) Village	As per certificate of Registrati on the Property is =5150 Sqft . But As per sketch in the position it is 6375 sqft.
79	Kalima Bee Dargah, Bhosga (B) Village	Sunni	Bhosga (B)	Property No. 1-86	43 x 82 =3526 sqft	North = Road South= chawdi East = Road West=chawdi	2,00,000/-	KSBA/REG/205/ GLB/2014-15, Dt:3/9/2016	Govt. of Karnatak a	Muslim Jamath	Darga h	Nil	Custo m	Scheme of Manage ment Approve d by the Board	Kalima Bee Dargah Bhosga (B) Village	As per certificat e of Registrati on the Property is =2112 Sqft . But As per sketch & possessio n it is 3526 sqft. Excess 1414 sqft Khatha Effected
80	Muslim Graveyard, Akhandalli Village	Sunni	Akhand alli	Sy. No. 327	01A - 20G	North = Open space South= Open space East = Open space West= open space	2,50,000/-	KBW/REG/23/ GBA/2006-07 DATED 19/2/2007	Govt. of Karnatak a	Muslim Jamath	Grave yard	Nil	Custo m	scheme of Manage ment Approve d by the Board	Muslim Graveyard , Akhandall i Village	As per the Certificat e of Registrat ation and Khatha Certificat e is 1 Acer 20 Guntas.

81	Baba Saheb Dargah Akhandalli Village	Sunni	Akhand alli	G.P. No. 1-24 In sy No. 1	118 x 83 = 9794 Sq. ft.	North = Road South= Gouthana East = Open space West= Road	2,50,000/-	KBW/REG/22/G BA/2006-07 DATED 21/2/2007	Muslim Jamath	Muslim Jamath	Darga	10,000/	Custo m	scheme of Manage ment Approve d by the Board	Baba Saheb Dargah Akhandall i Village	Khata effected
82	Jamia Masjid Akanda Halli Village	Sunni	Akanda Halli	Khata No : 2-96 in Sy No. 327 Yadrami G.P	50 x 100 = 5000sqft	North = 20' wide Road. South= Land Belonging to Dawalappa. East = Land Belonging to Razak Sab Attar,. West= Land Belonging to Hassain Basha S/o Mohammed Sab Makashi.	2,00,000/-	KSBA/REG/A17 /KLB/2015-16 DATED 19/9/2016	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	Nil	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid Akanda Halli Village	
83	Jamia Masjid Channur Village	Sunni	Channur	Property No. 2- 67/2 in Sy.No.1 45	60x55 = 3300 Sq. ft.	North = Open land South= Road East = Gouthan West= Open Land	2,00,000/-	KBW/REG/71/G BA/2006-07 DATED 7/3/2007	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	10,000/	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid Channur Village	Khata effected
84	Jamia Masjid Raddewadgi Village	Sunni	Raddew adgi	G.P. No. 1-108	35 x 42 = 1470 sqft	North = Open space South = Darga Kalimulla Hussaini East = Open space West = Open space	50,000/-	KBW/REG/103/ GBA/2006-07 DATED 18/5/2007	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	Nil	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid Raddewad gi Village	Khata effected

85	Hazrath Kale Hussain Peer Sab Dargah Gobburwadi Village	Sunni	Gobbur wadi	Plot No. 29	60 x 56 = 3360 Sq.ft.	North = House of Rukumpatel S/o Mehboob Patel South= Road East = Masjid West= Road	5,00,000/-	KTW/REG/23/G BA/2004-05 DATED 13/9/2004	Govt. of Karnatak a	Muslim Jamath	Darga	15,000/	Custo m	scheme of Manage ment Approve d by the Board	Hazrath Kale Hussain Peer Sab Dargah Gobburwa di Village	Khata effected
86	Jamia Masjid Biryal (B) Village	Sunni	Biryal (B)	Property No. 3- 101	61.5 x 74.5 = 4581.75S q.ft.	North = Open Plot South= Road East = Road West= Road	3,00,000/-	KBW/REG/62/G BA/2008-09 DATED 10/2/2009	Govt. of Karnatak a	Muslim Jamath	Jamia Masji d	10,000/	Custo m	scheme of Manage ment Approve d by the Board	Jamia Masjid Biryal (B) Village	As per the Certificat e of Registrat ation the Property is 40 x 60 = 2400 sqft but as per Position the Property is 4581.75 sqft. EXCESS 2181.75 sft Khata effected
87	Muslim Graveyard, Khonahipperga Village	Sunni	Khonahi pparga	Property No. 76/2 in Sy no 84	80 X 40= 155 X65.5= 22 X 15= TOTAL =13,682. 5 sft	North = Darga Road South= Land Sy.No. 82 East = Darga Road West= General Graveyard	10,00,000/-	KTW/REG/88/G BA/2008-09 DATED 21/3/2009	Govt. of Karnatak a	Muslim Jamath	Grave yard	Nil	Custo m	scheme of Manage ment Approve d by the Board	Muslim Graveyard , Khonahip perga Village	As per CR 23700 sft but As per sketch 13,682.5s ft less 10017.5s ft Khata effected

88	Murtuja Qadri Dargah Ranjinnigi Village	Sunni	Ranjnni gi	Property No. 1- 64/1	60x60 = 3600 Sq. ft.	North = Road South= Open Land East = Open Land West= Open Land	2,00,000/-	KBW/REG/95/G BA/2008-09 DATED 12/11/2009	Gift by Kasim Patel s/o Peersab patel	Muslim Jamath	Darga	Nil	Custo m	scheme of Manage ment Approve d by the Board	Murtuja Qadri Dargah Ranjangi Village	
89	Masjid and Khabrasthan Mangangera Village	Sunni	Mangan gera	Property No. 2- 167	134+125 2 X 275+208 2 = 31,274.25 20X155 = 3100 Total = 34,374.25 sft	North = Baslingappa Dhanshetty Sy.No. 369/1 South = Main Road East = Public Way & house West= Sy. N. 368/3	2,00,000/-	KBW/REG/33/G BA/2009-10 DATED 30/9/2009	Govt. of Karnatak a	Muslim Jamath	Masji d & Khabr asthan	Nil	Custo m	scheme of Manage ment Approve d by the Board	Masjid and Khabrasth an Mangange ra Village	As per the Certificat e of Registrat ation the Property is 260 x 200 =52000 sqft but as per the sketch & enjoymen t 34,374.2 5 sqft. Less 17,6025. 75sft Khata effected
90	Muslim Khabrasthan Committee, Zainapur Village	Sunni	Zainapu r	Property No. 2-74	160+160 2 X 108+150 2 = 20640sft	North = Bhiraya South= Govt. Road East = Kalunayak S/o Devalunayak West= Village / House	1,50,000/-	KBW/REG/69/G BA/2009-10 DATED 28/5/2010	Govt. of Karnatak a	Muslim Jamath	Khabr asthan	Nil	Custo m	scheme of Manage ment Approve d by the Board	Muslim Khabrasth an Committe e, Zainapur Village	As per the Certificate of Registratat ion the Property is 198x222= 43956 sqft . But as per sketch & Position the Property is =20640 sqft. Less 23,316sft

91	Dawal Malik Dargah Gunwanahalli Village	Sunni	Ganwan ahalli	Property No. 4-311	80X80= 6400 Sq.ft	North = Land of Sri. Pandita South= Road (Plan) East = Road West= Sri. Basawaraj Land	1,50,000/-	KBW/REG/12/GB A/2010-11 DATED 12/8/2010	Govt. of Karnataka	Muslim Jamath	Darga	15,000/-	Custo m	scheme of Managem ent Approved by the Board	Dawal Malik Dargah Gunwanah alli Village	As per the Certificat e of Registrata tion the Property is 150x100= 15000 Sq.ft . but as per Sketch & Position =6400 sqft . Less 8600sft
92	Muslim Khabrastan Murganoor Village.	Sunni	Murgano or	Property no :432 in Sy no : 105	180 x 85 = 15300 sqft	North = Land Belonging to Baswanthraya & Jagadeva Kalagi & Ramesh & Saiba Gouda South= Rudara Gouda Sharnappa Biradar Sy No. 105/A East = Road. West= Land Belonging to Maheboob Siledar & Karim Sab Mulla	2,00,000/-	KSBA/REG/214/G LB/2014-15 DATED 24/10/2016	Govt. of Karnataka	Muslim Jamath	Khabr asthan	Nil	Custo m	scheme of Managem ent Approved by the Board	Muslim Khabrasta n Murganoor Village.	

Number of Institutions: 92 Number of Properties: 92

Total Extent : 19A 5 guntas

: 19A 5 guntas 11, 40,683.44sq ft

By Order and in the Name of the Governor of Karnataka

(C.PUTTANANJAIAH),

Under Secretary to Government, Revenue Department (SSLR)